Math 2210 - Assignment 3

Dylan Zwick

Fall 2008

1 Sections 11.5 and 11.6

1.1 Section11.5

11.5.3 Find the z‘cquiwd limit or indicate that 1 does not exast.
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9 When no demain is given in the detinition of a vector-v alued func-
tion, it is to be understood that the domam is the set of ail {real)
scalars for which the rule for the function makes sense and gives real
vectors (e, vectors with real components). Find the domain of each

11.5

of the tollowing vector-valued functions:
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bili-¢] yeal for 4 <y
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2000y = ot 20 - 1)+ 3k (o denotes the greatest integer
functions. This s different than the symbol that the textbhook
uses, as | could not find how to reproduce that svmbol using

the Ly pesetiing program 'm using.)
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11.5.14 Find /7 and ¢ for each of the tollowing
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11.5.29 Find the velocity v, acceleration a, and Spced s at the indicated

me f = 1.
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11.5.36 Find the length of the curve with the given vector equation
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1.2 Section 11.6

11.6.1 Find the parametric equations of the line through the given pair of

points:

fL-2 3 and (4.5.6).
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11.6.7 Write both the parametric equations and the symmetne equations
for the line through the given point paz'ailel to the given vector

P 1), e - 00— 100, - 1000

Fétmw’sz%ffc:
X(€)= 1-164£
y (€)= |- loog
2(t)= | -looo{£
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11.6.11 Find the symmelric equations of the line of intersection of the
given pair of planes.

e

and

AT A

The ne rmal ector 4o the Frrsd /(cwe

it

5

—

n, = <!/4{f—~2>

T/’IG MO/MC«?( 3/6:57(‘61" +o the Secoﬁoﬂ/ﬂ/@iﬁﬁ INSS'

n,=d2,-1,-2>

o~

0ok = e o
KA, Lo -2 | = (FF-2) Tl 1 (-s) R
2 -1 -7 1| ° '!0;""2;*7/:

If CLE 5@4‘ y‘:O e caH l[:}?Q/ -y /ﬁOf'f}WL 2 AG%}I

fiwfef:

X—=0lz =15 —;7 «*){:gt:?)(::~5/
ix-2+ -9

~lz =2 5 z-= 2L
Z.

P _ Yy - )
15. / ( g’;t@/ 7_) Ps g ‘1['}1(? /{C{/qe Cf}’/c/{ Loe /9"6)1/—
'f’}wa 5’/;‘4?;’??6 tric e guouﬁfbm:
. X+& 2t
b : - _X{ LT =

O




11.6.23 Find the symimelric equations of the tangent Hine to the curve with

equation
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11.6.25 Find the equations of the plane perpendicular to the curve:
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